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1. Find the derivative of the equation  
𝑦𝑦 = √1 − 𝑥𝑥2 using the chain rule. Show 
each of the steps you used to arrive at your 
solution. 
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2. Find the derivative of the equation  
𝑦𝑦 = ln (1 − 𝑥𝑥2) using the chain rule. Show 
each of the steps you used to arrive at your 
solution. 
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3. Find the derivative of the equation  
𝑦𝑦 = sin (1 − 𝑥𝑥2) using the chain rule. Show 
each of the steps you used to arrive at your 
solution. 
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4. Find the derivative of the equation  
𝑦𝑦 = 𝑒𝑒1−𝑥𝑥2  using the chain rule. Show each 
of the steps you used to arrive at your 
solution. 
 

 
 
 
 
 


